MAEG4070 Engineering Optimization

Solution 4

1. The Lagrange function is

L(x,\) = 627+ 723 + (321 + Tag — 10)
627 + 3\xy + 723 + TAxs —10A

Ll(zl,/\) L2(~'L'27)\)
The updates are
)\/c
ol = argmin, Ly (1, \) = 7
)\k
;L-SH = argmin,, Ly(x2, \) = — 5
D N R S A (1)
Iteration 1:
0
x11 = _Z =0
0
le = _E =0
M=0+01xBx0+7x0—-10)=-1
Iteration 2:
1
2 =—_=0.25
=7
_1 0.5
X =5=0.

A2=-1+01%x(3x0254+7x05—10) =—-1.575

2. Both f; and f, are minimize
(1) f1(4) > f1(B), f2(A) > f,(B), A'is dominated by B, or B dominates A.
(2) fi(B) = f1(C), f2(B) < f,(C), Cis dominated by B, or B dominates C.
() fi(A) > f,(0), f,(A) = £,(C), A'is dominated by C, or C dominates A.

3. x*=(1,2)T is not a robust feasible solution. The robust optimization is equivalent to

min 3z + 4x9
T1,T2

St.x1 a9 <2
1+ 19 <3
201 + 19 < 2
2x1+ 29 <3

The last constraint is violated.



